psbezier takes (1,1) from the preceeding line as starting point

Now psbezier as starting curve with 4 arguments

psbezier takes (1,1) from the preceeding line as starting point

\psset{unit=1in,dimen=middlel}
\begin{pspicture}(2,2.15)
\pscustom[linewidth=10pt,linejoin=1,fillstyle=solid,
fillcolor=gray!50]1{%
\psline(1,2)(1,1)
\psbezier(1.33,1.11)(1.78,1.56) (2,2)
\closepath

}
\end{pspicture}

Now psbezier as starting curve with 4 arguments



\begin{pspicture}(2,2.15)

\pscustom[linewidth=10pt,linejoin=1,fillstyle=solid,
fillcolor=gray!50]1{%
\psbezier(1,1)(1.33,1.11)(1.78,1.56)(2,2)
\psline(1,2)
\closepath

}

\end{pspicture}



